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Question Number : 1 Question Id : 2549896192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is used to detect errors.

Options :

1. # An upper case letter

2. % A lower case letter

3. % A figure

4. ¥ A parity bit

Question Number : 1 Question Id : 2549896192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I gdN ST HH HRAT B
Options :

1. % Uh 3R HY e (31ER)

2. % TP AIBR HY e (3ER)

3. % T P

4. ¢ T& IR fae

Question Number : 2 Question Id : 2549896243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the significance of a faded (dimmed) command in a pull-down menu?
Options :

1. ¥ The command is not currently accessible.

2. % A dialog box appears if the command is selected.

3. ¥ A help window appears if the command is selected.

4. ¥ There are no equivalent keystrokes for the particular command.

Question Number : 2 Question Id : 2549896243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

JI-S1S A H el HHIS ATSH bl T Heed BIal 87
Options :

1. ¢ T § HHIS TR & fore v 8t g |

2. % IR HHIS Bl Ydae HRd &, dl T STANT Sidy JadT g |
3. % IR HHIS B! Ydde Hd g dl U el [dal Jadl g

4. % {53l faRy Hrts & fou 18 off Tuqed fawen 76 B

Question Number : 3 Question Id : 2549896297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The part of an operating system that permanently resides in the main memory is called the
Options :

1. #® job scheduling module

2. ¥ kernel

3. % translator

4. % ALU

Question Number : 3 Question Id : 2549896297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o TR Rew o1 Y few & o il U 3 g A A g |
Options :

1. % Sl WhYfeiT Aleyd

2. ¥ FHd

3. % 3FAE®H (CICR)

4. % BT 3R difhed IBTS (ALU)

Question Number : 4 Question Id : 2549896299 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following is NOT an operating system?
Options :

1. ¥ MS DOS

2. % COM

3. % LINUX

4. % MS WINDOWS

Question Number : 4 Question Id : 2549896299 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TH 9 P T TR Rew 1Y 52
Options :

1. % MS DOS

2. % COM

3. ¥ LINUX

4, % MS WINDOWS

Question Number : 5 Question Id : 2549896482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of following characteristics helps define the term Big Data?
Options :

1. ¥ Volume, Velocity, Variety, Veracity, Value

2. % Vanish, Velocity, Variety, Veracity, Vertical

3. % Volume, Volatile, Variety, Veracity, Vertical

4. % Virtual, Volatile, Variety, Veracity, Vanish

Question Number : 5 Question Id : 2549896482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafeiad 7 @ o-3t sifiraneifOresdr fam SeT (Big Data) Rs &1 URHIRNT 31 H Aee ! 82

Options :




1. ¢ dieqH, RIS, RIS, IR, I
3. % dicgH, dIdicIgd, IS, oRIRICH, aféhd
4. % FY3(d, AIcICISd, RIS, aRTRICT, A=

Question Number : 6 Question Id : 2549896492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The IC chip used in computers is made of:
Options :

1. # chromium

2. # iron oxide

3. % silica

4. % silicon

Question Number : 6 Question Id : 2549896492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Huex H IUgNT g arell 1c g fpg s g1t 82
Options :

1. % cplftd

2. % 3R RIS

3. % fferept

4. ¢ TYferep

Question Number : 7 Question Id : 2549896549 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which number system has a base 16:
Options :

1. ¥ Hexa Decimal



2. % Octal
3. # Binary

4. % Decimal

Question Number : 7 Question Id : 2549896549 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

b e TuTTel} T 3MUR (S9) 16 BT 32
Options :

1. ¥ TSR

2. % 3aeed

3. % qIgRI

4. % SRyAA

Question Number : 8 Question Id : 2549896596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The optical storage technique is used with:
Options :

1. # floppy disk drive

2. % hard disk drive

3. ® magnetic disk drive

4. % CD-ROM drive

Question Number : 8 Question Id : 2549896596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DT HSRU dob-i1es T TRAINT forgeh W1 foharm el 82
Options :

1. % g e g1%a

2. % g8 &% =24




3. % dao g fetdh gr2a
4. ¥ CD-ROM SIsd

Question Number : 9 Question Id : 2549896665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
USB stands for:

Options :

1. # Unique Serial Bus

2. ¥ Universal Serial Bus

3. % Union Serial Bus

4. % Unknown Serial Bus

Question Number : 9 Question Id : 2549896665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

USB &1 fawaiiRd &0 1 82

Options :

1. = W i o (Unique Serial Bus)
2. m iad a9 (Universal Serial Bus)
3. % g Hikae 99 (Union Serial Bus)

4. % A AT 99 (Unknown Serial Bus)

Question Number : 10 Question Id : 2549896672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Information retrieval is fastest from which of the following options:
Options :

1. # floppy disk

2. % magnetic tape

3. % hard disk



4. * CD-ROM

Question Number : 10 Question Id : 2549896672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I B g e A 9 o ey @ wa aw gt 82
Options :

1. % ATt feweh

2. % DY cy

3. ¥ TS S

4. % CD-ROM

Question Number : 11 Question Id : 2549897249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which directory contains all the system wide configuration information in Linux?
Options :

1. #* /usr

2. % /dev

3. ® /tmp

4. ¥ Jetc

Question Number : 11 Question Id : 2549897249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

foFe (Linux) H fr SrRaet & T+t R args famamy geamt wigd & U # it 82
Options :

1. % /usr

2. % /dev

3. ® /tmp

4. ¥ Jetc




Question Number : 12 Question Id : 2549897590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A PROM that can be erased and reprogrammed without being replaced is known as
Options :

1. * DRAM

2. % Floppy Disk

3. ¥ EPROM

4. % Hard Disk

Question Number : 12 Question Id : 2549897590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T&H PROM TS o1 sigl fireman (3 faram) oiR fohr § Uiomy fopan o 9ehdn 8, 39 & ¥ H ST WA g
Options :

1. * DRAM

2. % Floppy Disk

3. ¥ EPROM

4. % Hard Disk

Question Number : 13 Question Id : 2549897641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The standard capacity of a 3.5 inch Floppy Disk is:
Options :

1. ¥ 1.44 MB

2. % 32MB

3. % 140GB

4. % 1.44GB

Question Number : 13 Question Id : 2549897641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

TS 3.5 59 TA1U! f&¥h &t A & ik
Options :

1. v 1.44 MB

2. % 32 MB

3. % 1.40 GB

4. % 144 GB

Question Number : 14 Question Id : 25498929881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a pen type barcode reader, the photodiode measures the with the help of the light source as the tip crosses each bar and space in the
printed code.

Options :

1. ¥ intensity of the light
2. % wavelength of light
3. # density of light

4. % variance of light

Question Number : 14 Question Id : 25498929881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T U T30 TRPIS S |, BIc] SRS UhTY Fld H1 Aeg I DI AU &, 39 Ufcha1 # 39! fou, gfad o H U aR 3R Wrelt
R Y ToRdT 8|

Options :

1. ¢ UBIRI &1 digdl
2. % YT B aT e
3. % UHIRI & g

4. % IR & foaR

Question Number : 15 Question Id : 25498930058 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

General biometric systems are capable of capturing and storing of biometric samples of its users.

Options :

1. ® end

2. % known

3. ¥ enrolled

4. * remote

Question Number : 15 Question Id : 25498930058 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TP TH SOARE UOMelt 309 IUANTHd1S) & SRMA®H Al bl bR B (3MfAFHd BT SR TUeId d3- H Ted gidl g
Options :

1. % TS (30

2. % 9 (SF®HR)

3. ¢ TRIGS (ATHifdbd)

4. % fAe (grR)

Question Number : 16 Question Id : 2549897698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is meant by 'PROTOCOL', with reference to computer networks?
Options :

1. ¥ Set of rules

2. % Set of layers

3. # Set of words

4. % Set of letters

Question Number : 16 Question Id : 2549897698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SR Acddh & GgH H, Ueidid (PROTOCOL) H1 3T 37 g2
Options :

1. ¢ el o1 9=y

2. % TR & T

3. % Xeq] B Y=

4. % &R B g

Question Number : 17 Question Id : 2549898146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
mechanism in any system is designed to prevent and restrict access to unauthorised users.

Options :

1. # Feedback

2. % Access control
3. % Auditing

4. % Coupling

Question Number : 17 Question Id : 2549898146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fpdt iR d dF (@dom) & AT SUANTHdl &I Adh- R Ufdefd TR gq fewme- fear srar |
Options :

1. # gfagy (wisd®m)

2. ¢ Ugd (a0 (TR dhela)

3. % TSI (Auditing)

4. % Y- (Coupling)

Question Number : 18 Question Id : 2549898231 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A web browser may deny to a website or at least warn the users when the security certificate of the website has expired.
Options :

1. # program

2. % protocol

3. # code

4. ¥ access

Question Number : 18 Question Id : 2549898231 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

oTdl for it daaTSe o YR&M THIUYS S 90 HT THTW 1 Sl 6 df U a9 ST3uR 34 dedTse & U TR B Dl § AT HHA Y
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Options :

1. % YU

2. % ICbld

3. % Plg

4.« THY

Question Number : 19 Question Id : 2549898559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a file format for Microsoft Excel 97 to 2003 workbook?
Options :

1. % xIlm

2. % xlsm
3. ¥ xls
4

. % xlms

Question Number : 19 Question Id : 2549898559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Microsoft Excel 97 T 2003 OId%G\l,Ob &l H%\ﬂ:l %%ﬁﬁ?ﬁwqﬂ”ﬁzmwmw%




Options :
l. * xlm
2. % xlsm
3.9 Xls
4

. % xlms

Question Number : 20 Question Id : 2549899572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a valid function in MS Excel?
Options :

1. % SUM()

2. % COUNTIF()

3. ¥ SUMTRACT()

4. % NOW()

Question Number : 20 Question Id : 2549899572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

45 T QDI I MS Excel BT T IY Ha-H ol 87
Options :

1. ® SUM()

2. % COUNTIF()

3. ¥ SUMTRACT()

4. %= NOW()

Question Number : 21 Question Id : 25498910764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
By default, documents are printed in mode in MS-Word 2013.
Options :

1. #* landscape



2. % portrait
3. # lengthy

4. % print view

Question Number : 21 Question Id : 25498910764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2013 H, f§Wlec ®Ud gyl W A fie garg!
Options :

1. % depy

2. ¢ Uice

3. % R

4. % flicg

Question Number : 22 Question Id : 25498911150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to data communication, radio waves CANNOT penatrate through which of the following?
Options :

1. ®* Wood

2. # Bricks

3. # Concrete

4. ¥ Metal

Question Number : 22 Question Id : 25498911150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST AR & o H, WA ai Fuffed & 4 fordd A1em 3 Udw 76 o Jobd! 6
Options :

1. % ddhal

2. % 3¢



3. % Heplc
4. ¥ 41q

Question Number : 23 Question Id : 25498913439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The term GHz is an indicator of which feature of the computer?
Options :

1. # Storage

2. ¥ Speed

3. % Pixels

4. % Word

Question Number : 23 Question Id : 25498913439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
GHZUEWa’ﬁﬁHﬁ@fmﬁﬁW (feature) WW%Q
Options :

1. % UG (Storage)

2. ¢ Tfd (Speed)

3. % fUdHd (Pixels)

4. ® 8 (Word)

Question Number : 24 Question Id : 25498918450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is true with reference to printers?
Options :

1. ¥ Laser jet printers are faster than inkjet printers.

2. % Laser jet printers are slower than inkjet printers.

3. # Laser jet printers have the same printing speed as inkjet printers.



4. ® Laser jet printers have the same cost compared to inkjet printers.

Question Number : 24 Question Id : 25498918450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

flier & devi & Fafafla A I e-ar sy T 82

Options :

1. ¢ TR ¢ fliex Spoie i A AaR Id 5

2. % WeR wie fifex gpoie R A A Id &

3. % ToR Se fifer &t 01 1fd Shoie e &t 1fd & SRR gt 8|
4. % WoR oie fifex & ANTA SPhoic Hier DI AT & a=TeR i o |

Question Number : 25 Question Id : 25498918537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following memories refers to the portion of memory that is available to standard DOS programs on DOS systems?
Options :

1. ® Expanded

2. ® Cache

3. % Conventional

4. ® Virtual

Question Number : 25 Question Id : 25498918537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafafea § § HH-3 7R, 39R & 39 8w &1 defifd ot 8 S 319 RIeH (DOS systems) TR A S19 UIITH & folT Iuas 82
Options :

1. % ToUSs (Expanded)

2. % B (Cache)

3. ¢ HAIEA (Conventional)

4. ® TYIA (Virtual)




Question Number : 26 Question Id : 25498919391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to broadband connections, what is the full form of ADSL?
Options :

1. ® Asymmetric digital subscriber location

2. ¥ Asymmetric digital subscriber line

3. # Automatic digital subscriber line

4. ® Automatic digital subscriber location

Question Number : 26 Question Id : 25498919391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S1S6S BIaH b JaH H, ADSL BT YU &Y 15?2

Options :

1. ® ‘Hﬁlﬁ% fefored SESEIEERN SIERE (Asymmetric digital subscriber location)
2. ¥ \’dﬁlﬁ@ fefored o hIgdR Ig (Asymmetric digital subscriber line)

3. % 3eAfed f&fored o hIgdR ¢Ig (Automatic digital subscriber line)

4. % 3efe® fefoiea SESEIEER SIERE (Automatic digital subscriber location)

Question Number : 27 Question Id : 25498919475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
WEP is an acronym of:

Options :

1. ® Wired Equal Private

2. #% Wireless Equal Port

3. ¥ Wired Equivalent Privacy

4. ® Wired Equivalent Port

Question Number : 27 Question Id : 25498919475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

WEP, 5 & 9 fordeT Hfénd U g2

Options :

1. % 9IS Uehdl UIzdc (Wired Equal Private )

2. % IR Uehcf ure (Wireless Equal Port )

3. ¢ A0S Q@aafc msé?ﬁ (Wired Equivalent Privacy)
4. % 9IS u@aa«: are (Wired Equivalent Port)

Question Number : 28 Question Id : 25498922654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A half byte is also called as a
Options :

1. ¥ Bit

2. # Byte

3. ¥ Word

4. ¥ Nibble

Question Number : 28 Question Id : 25498922654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3 e Y W RIS 3 |
Options :

1. # foe

2. #® dIgc

3.% 98

4. ¢ e

Question Number : 29 Question Id : 25498924021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

To smoothen the edges of screen fonts, which tab from system properties is used in Windows 10?
Options :

1. # Data execution and prevention

2. ¥ Visual Effects

3. # Shadow under menu

4. % Hide underlined letters

Question Number : 29 Question Id : 25498924021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ThH Wi & BRI & WY FA & g, [ISIS 10 # Rew Wiudis & {6y e &1 Iugi foran S g2
Options :

1. % a1 QHQ?PZRFT T fUaTH (Data execution and prevention)

2. ¢ {dSg3d Sy (Visual Effects)

3. % QST 3R flﬂ(Shadow under menu)

4. % B3 S SIS dcH (Hide underlined letters)

Question Number : 30 Question Id : 25498924427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is FALSE regarding Kernel?

Options :

1. #® Kernel is the program that constitutes the central core of the operating system.

2. % Kernel is the first part of operating system to load into memory during booting.

3. ¢ Kernel is made of various modules which cannot be loaded in running operating system.

4. ® Kernel remains in the memory during the entire computer session.

Question Number : 30 Question Id : 25498924427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fd (Kernel) & oy H FRgforRad & @ HH-T1 30 (FALSE) 82



Options :

1. % T UIUTH TR Ried & Hoid HR BT T34 PRl 5|

2. % FfETH IRAE AURY & Te HA & o Fid SToRfSTT Red &1 uga HFT ]|

3. ¢ HAd AT Alegd Y &1 BIdT ¢ ford SfioRfeT Riew g & fore are =18t foa off g g |
4. % Bl N SR I S R FARI H @ g

Question Number : 31 Question Id : 2549896211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Most websites have a , which acts as a doorway to the rest of the website pages.
Options :

1. ® search engine

2. ¥ home page

3. ® browser

4. % contact form

Question Number : 31 Question Id : 2549896211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IAFRITUZCI I U Bldl o, o H1egH I J9U13C & 91! & Uol gad g |
Options :

1. % g g

2. ¥ GO

3. ¥ SI3WR

4. % Hi-Cqe BIH

Question Number : 32 Question Id : 2549896217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following are considered as the advantages of the E-mail?
Options :



1. ¥ Convenience, speed of delivery, generality and reliability
2. % Printable, global and exposing
3. # Global, convenience and Microsoft owned

4. # Slow delivery, reliable, global and inexpensive

Question Number : 32 Question Id : 2549896217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafafed # 3 f5d 399 o1 BrieT I ST 82
Options :

1. « gaH, faavor &t 7ifa, Irarrar SiR g

2. % flic H3 Ay, 3P 3R IOPR

3. % 3f¥®, gy 3R HISH T 3 (Microsoft owned)
4. % ofta fgaRu, fasig, afye SR

Question Number : 33 Question Id : 2549896337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A/An specifies rules or guidelines for data communication over computer networks.
Options :

1. ¥ Protocol

2. ® Data

3. # Information

4. ® Hardware

Question Number : 33 Question Id : 2549896337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HCR AT W STl HAR & fore fam o fegnfidw fAfdy srar g |

Options :

1. ¢ UIcpid




2. % el
3. % TEBRI (FTHHIA)
4. % BISAW

Question Number : 34 Question Id : 2549896460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a web browser?
Options :

1. # Netscape Navigator

2. # Internet Explorer

3. ¥ Mosaic

4. ¥ Azure

Question Number : 34 Question Id : 2549896460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Frofied & 9 31 91 U 39 STSoR 718l 8
Options :

1. * Netscape Navigator

2. % Internet Explorer

3. ¥ Mosaic

4, ¥ Azure

Question Number : 35 Question Id : 2549896680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The shortcut key combination used for copying selected text in MS Word is:
Options :

1. # Ctrl+X

2. % Ctrl+V

3. ¥ Ctrl+C



4. ® Ctrl+D

Question Number : 35 Question Id : 2549896680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word # T0fAd UT& &1 Ufaferit a9 o forg SUgiT fosa S ara Yiéahe drolt YAt i 41 82
Options :

l. # Ctrl+X

2. % Ctrl+V

3. ¥ Ctrl+C

4. % Ctrl+D

Question Number : 36 Question Id : 2549897389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which function key is used to launch "Find & Replace" with active "Go To" tab in MS Word?
Options :

1. % Fl

2. % F2

3. % F3

4. ¥ F5

Question Number : 36 Question Id : 2549897389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word B Ifehd "Go To" %_Q' & 1Y "Find & Replace" HI AT I D ﬁl'q fog thawE W BT IGTNT {1 STl %?
Options :

1. ® Fl

2. % F2

3. % F3

4. ¥ F5



Question Number : 37 Question Id : 2549897442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following shortcuts can be used to create a new workbook when using MS-Excel?
Options :

l. % Cul+V

2.% Cul + N

3. ® Ctrl + S

4. % Ctul+X

Question Number : 37 Question Id : 2549897442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel BT IGINT Hd THT TP 5 dh g a1 o (o 9 & 3 [iche o1 U fovdn off Tl 82
Options :

1. % Ctrl +V

2.% Cul + N

3. % Ctrl + S

4. % Ctul+ X

Question Number : 38 Question Id : 2549897461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the key combination to change the font in MS PowerPoint?
Options :

1. ® Ctul+P

2. % Ctrl+Shift+<

3. ¥ Ctrl+Shift+F

4. * Ctrl+Shift+>

Question Number : 38 Question Id : 2549897461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

MS PowerPoint H i< dgd- & ferg W TG T %?

Options :

1. ® Ctrl+P

2. % Ctrl+Shift+<

3. ¥ Ctrl+Shift+F

4. % Ctrl+Shift+>

Question Number : 39 Question Id : 2549898053 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose variant of pie chart from following options.
Options :

1. * Line

2. * Bar

3. ¥ Doughnut

4. # Scatter

Question Number : 39 Question Id : 2549898053 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafaRad fawedl & 3 o a1c & aey &1 997 B |
Options :

1. % ol

2. % dR

3. ¥ I

4. % TR

Question Number : 40 Question Id : 2549898081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following events is in the right order to Print a chart WITHOUT worksheet data in MS Excel 20077
Options :

1. # Click Microsoft Office Button > Click the chart > Click Print

2. ¥ C(lick the chart > Click Microsoft Office Button > Click Print

3. % Click Microsoft Office Button > Click Print > Click the chart

4. # Click Microsoft Office Button > Click Print

Question Number : 40 Question Id : 2549898081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafaRed # § &9 T geH1E, MS Excel 2007 H HTRIGRI®T ST & fam1 a1 & Gl & eie § 981 HH 8 g2
Options :

1. % f3d® P Microsoft Office Button > the chart > Print

2. ¢ f3A® B the chart > Microsoft Office Button > Print

3. % dq® P Microsoft Office Button > Print > the chart

4. % f3IP B Microsoft Office Button > Print

Question Number : 41 Question Id : 2549898133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The tab enables you to apply or delete a legend from the Chart Wizard dialog box in MS Excel 2010.
Options :

1. # Chart Title

2. # Data Table

3. % Data Label

4. ¥ Legend

Question Number : 41 Question Id : 2549898133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

<F 3BT MS Excel 2010 & TE fATTTS SN S1a J TolS B AN B IT FSAIC B & H&H ST 5 |




Options :

1. ® 91K T8
2. % Zercad

3. % Zerded

4. ¥ S

Question Number : 42 Question Id : 25498910464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill the ? with suitable option with respect to MS Word 2007.

Here is the path to make whole text into small letters.

Home — ? — Change Case — lowercase
Options :

1. ¥ Font group

2. # Paragraph group

3. % Styles group

4. # Editing group

Question Number : 42 Question Id : 25498910464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2007 & I&t T IUgad fadhed & I1Y 2 W1 |
R CRE Bl BT A & forg A ggi fgan g

Home — ? — Change Case — lowercase
Options :

1. ¢ Bl (Font) YHg

2. % TG (Paragraph) UHg

3. ¥ IS (Styles) UHg

4. % TS (Editing) THE



Question Number : 43 Question Id : 25498910516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Word under PAGE LAYOUT tab when we open the Page Setup window the 'Apply to' field has "Whole document' and ' ' options
available.

Options :

1. # Landscape

2. % This point forward
3. ¥ Mirror margin

4. ® Portrait

Question Number : 43 Question Id : 25498910516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%{[S Word H U A313¢ ed & dgd oid gd Ul e 3y fdst \rad % ar 'Apply to' IS H 'Whole document' 3R fadmeu Suas fﬁ?f
|

Options :

1. % depy (Landscape)

2. ¢ fegdige BRAS (This point forward)

3. % fRR AfoH (Mirror margin)

4. ® qﬁ‘c’ (Portrait)

Question Number : 44 Question Id : 25498910539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When you right-click and select the 'Format Cells' option in MS Excel 2010, which of the following Tab is NOT visible?
Options :

1. ¥ Sheet

2. % Protection

3. ® Fill

4. % Number



Question Number : 44 Question Id : 25498910539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IS 31T MS Excel 2010 H Ige-f3eie $Rd & 3R BiHc Ve (Format Cells) fdded gd €, Al 9 # @ 1991 29 fewrs Ag ear g2
Options :

1. ¢ 2T (Sheet)

2. % GicaRH (Protection)

3. % fihd (Fill)

4. % J&R (Number)

Question Number : 45 Question Id : 25498910641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which shortcut key combination you will use to change your text to 1.5 line spacing in MS Word?
Options :

1. % Ctrl+3

2. ¥ Ctrl+5

3. % Ctrl+2

4. % Ctrl+1

Question Number : 45 Question Id : 25498910641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word H 30 SR 1 1.5 T WRIT H sgeq & T o1y ford QTéahe ol SIS 1 SudiT Bt
Options :

1. ® Ctrl+3

2. ¥ Ctrl+5

3. * Ctrl+2

4. % Ctrl+1



Question Number : 46 Question Id : 25498913301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following shows the address of the current selection or active cell in MS-Excel?
Options :

1. # Ribbon Tabs

2. ¥ Name Box

3. * Formula Bar

4. % Rows

Question Number : 46 Question Id : 25498913301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fAafefad o @ SF-91, MS-Excel H IdHM 904 I1 Tfshg I &1 Ul (TgY) fa@mar g2
Options :

1. % e sy

2. ¢ AU Sl

3. % Bl §R

4. % 3 (Rows)

Question Number : 47 Question Id : 25498918940 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you want to increase a font size in MS Word, then which of the following shortcut key combination would you use?
Options :

1. ® Ctrl+F

2. % Ctrl+Up Arrow

3. ¥ Ctrl+Shift+>

4. ® Ctrl+Shift+<

Question Number : 47 Question Id : 25498918940 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

MS Word T 310 Thive TR dgM & e 9 & 1 ford qiicane droll Faoi o1 T 2
Options :

1. # Ctrl+F

2. % Ctrl+Up Arrow

3. ¢ Ctrl+Shift+>

4. ® Ctrl+Shift+<

Question Number : 48 Question Id : 25498919175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the decimal equivalent of the binary number 10111?
Options :

1. % 21

2.9 23

3. % 24

4. % 32

Question Number : 48 Question Id : 25498919175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TISRI =T 10111 BT SRHA TG T 62
Options :

1. % 21

2.9 23

3.% 24

4. % 32

Question Number : 49 Question Id : 25498924854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
can automatically sort, count, total or average the data stored in spreadsheets.



Options :

1. ¥ PivotTable

2. % SmartArt

3. % Text to Columns
4. % Chart

Question Number : 49 Question Id : 25498924854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

_ gOifad 9 9 Sretfic d TUgid S¢1 &l Hitd B Ahdl 8, T &R Adhdl §, AN a1 3d Herd gobdr g
Options :

1. ¢ fUge drferet

2. ® TCITC

3. % TRE T HIAH

4. % 91d

Question Number : 50 Question Id : 25498930574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following does NOT belong to the Mathematical and Trigonometric function category in MS Excel?
Options :

1. ¥ CACHE()

2. % ROUND()

3. % SUM()

4. % ABS()

Question Number : 50 Question Id : 25498930574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel # Fafifed # ¥ oH daifewd SR fermicad harM $ekl 4 781 82

Options :



1. ¥ CACHE()
2. % ROUND()
3. % SUM()
4. % ABS()

Question Number : 51 Question Id : 25498932140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which internet service is used for virtual meetings?
Options :

1. ¥ Video conferencing

2. # Chatting

3. % Email

4, % SMS

Question Number : 51 Question Id : 25498932140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T8 3 T Sexric a1 &1 ITANT agsfd Hif & forg fopan S g2
Options :

1. ¢ dIf&Tl BITHIRAT

2. % dfdT

3. % 3.0

4. % SMS

Question Number : 52 Question Id : 25498934455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of Microsoft's Public Cloud Computing Platform?
Options :

1. ®* AOL

2. % Azure



3. # Xbox

4. % Amazon

Question Number : 52 Question Id : 25498934455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafafad # 9 SH-91, ARSIt & Ifeid wrds e WehiH &l 3G1eRUl g2
Options :

1. % T3{L.UJ. (AOL)

2. ¥ 3V} (Azure)

3. % T (Xbox)

4. % 3OS (Amazon)
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Question Numbers : (53 to 57)



Read the given passage and answer the questions that follow.
Water Shortage

About 70% of the Earth’s surface is covered with water but only 3% is actually fresh water that is fit for human consumption. There is an acute
water shortage. Water shortage is the lack of sufficient available water resources to meet water needs within a region. It affects every continent
and around 2.8 billion people around the world. More than 1.2 billion people do not have access to clean drinking water.

You are perhaps aware that March 22 is celebrated as the World Water Day every year. Have you ever felt a shortage of water at home or at place
of work? You must have been sometimes advised not to waste water. No wonder water day is celebrated every year to draw the attention of
people towards the importance of conserving water.

The amount of water recommended by the United Nations for drinking, washing, cooking and maintaining proper hygiene is a minimum of 50
litres per person per day. This amount is about two and a half buckets of water per person per day. Is your family getting at least this much of
water? If yes, you should consider yourself fortunate because millions of people in our country do not get enough water. What about your friends
and their families? Do they get enough water supply?

In some places there is an acute shortage of water. Taps running dry, long queues for water, fights, marches and protests to demand water have
become a common sight, especially during summers. Newspapers are full of such reports. We must save water.

Sub questions

Question Number : 53 Question Id : 25498920990 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many people get affected by water shortage in the world?
Options :

1. % 70% of the earth’s population

2. % Only 3% of the population

3. % 2.8 billion people

4. % Only 1.2 billion people

Question Number : 54 Question Id : 25498920991 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is significant about 22 March?
Options :

1. ¥ It is celebrated as the World Water Day.



2. % On this day, the United Nations declared the quantity of water required per person per day.
3. % Tt is the water saving day.

4. # It is water shortage day.

Question Number : 55 Question Id : 25498920992 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Two and a half buckets of water is recommended
Options :

1. ® per family

2. ® per person

3. # per day

4. ¥ per person per day

Question Number : 56 Question Id : 25498920993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT related to water shortage?
Options :

1. % No water in the taps

2. # Agitation by the public

3. # Fights for water

4. ¥ Enough water supply

Question Number : 57 Question Id : 25498920994 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The demand for water goes up
Options :

1. % when people queue up

2. % during summer

3. # to save water



4. * when newspapers report

Question Id : 25498920989 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498920990 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

v & e B et @ Rea T e B
Options :

1. % Gl BT TSI BT 70%

2. % 3TSTdl BT bad 3%

3. ¢ 2.8 faferg &



4. % Had 1.2 Sfera am

Question Number : 54 Question Id : 25498920991 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

22 A & IR H Hgaqul &1 82

Options :

1. ¢ 39 fay 9d fegw & =u & 7911 S |

2. % 3 fa, Igaa Ty A ufd sl ufd &7 sraxaes urit 1 9= &1 givon 1|
3. % Ug o[ g9 [ B

4. % Tg UM Pt HH BT A 3

Question Number : 55 Question Id : 25498920992 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

P uUr # e 9 B SR B Sl |
Options :

1. % gfd uRaR

2. % yfd i

3. % gfad

4.+ Ufd Afda ufa i1

Question Number : 56 Question Id : 25498920993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % & | Ut 81 ST

2. % S gRT 3fater

3. % O & fIT S9TS

4. T U B STfd



Question Number : 57 Question Id : 25498920994 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 9 AN HdR H 31d &

2. ¢ T &% ERA

3. % UM g9 & g
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QUANTITATIVE APTITUDE
Section Id : 2549895512
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895553
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What will come in place of the question mark (?) in the following question?

V360—225x2+379=7



Options :
1.¥ 17
2.% 19
3. % 279
4. % 289

Question Number : 58 Question Id : 25498914250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
frrafof@a ged & 9o fBEa (2) & T W FgAAT AT FAT T2

\/360— 225 %2 +379 =7
Options :
|« 17

5 % 19
3 % 279

4 % 289

Question Number : 59 Question Id : 25498914368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Manish bought two varieties of rice. He bought 25 kg of the first variety at ¥32 per kg. He bought 15 kg of the second variety at 336 per kg. What
is his profit percentage when he mixed the two varieties and sold it at *40.20 per kg?

Options :
1. = 25%
2. % 40%



3. % 30%
4.9 20%

Question Number : 59 Question Id : 25498914368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A & 25 ey =raer T 32 gfy frerame it 15 oy aew 2 36 gy e Frag @
Tl 2T foreAT & AT #T F T 40.20 9y ey $F X ¥ s=99 X 38 Tohgar o 9reg FEm?

Options :
1. * 25%
2. % 40%
3. % 30%
4. 20%

Question Number : 60 Question Id : 25498928827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that can replace the question mark (?) in the given equation.

572 = 26 X 12 — 200 = (2)’

Options :
1. %5
2.¥6
3.% 7
4. % 8

Question Number : 60 Question Id : 25498928827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



frrafof@a ged & 9o fBEa (2) & T W FgAAT AT FAT T2

572+ 26x 12— 200 = (2)’
Options :
.® 9

Question Number : 61 Question Id : 25498928905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The fare of a bus is ¥X for the first five kilometres and X13 per kilometres thereafter. If a passenger pays 22,402 for a journey of 187 kilometres,
what is the value of X?

Options :
1. % 29
2. % 39
3.9 36
4. % 31

Question Number : 61 Question Id : 25498928905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TF §F F G g 5 e F e T X 3R 33 a1 T 13 9fe e §1 3fe v Il 187
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Options :




3.« 36

4 % 31

Question Number : 62 Question Id : 25498928954 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the following question, which is followed by three statements I, II and III. Identify which of the statements are necessary to answer the
question.

What is the speed of a train?

Statements:

I. The length of the train is 240 metres.

II. The train crosses a pole in 24 seconds.

III. The train crosses a platform in 48 seconds.

Options :

1. ¥ Both statements I and III
2. ¥ Both statements I and II
3. # Both statements II and III

4. ¥ Any two of the three statements

Question Number : 62 Question Id : 25498928954 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % HYF 1 3MR 11 Al

2. HYT [ 3R 11 Gl

3. % YT 11 3R 111 S
4. % AN BUTHH I BIs QI

Question Number : 63 Question Id : 25498929438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The value of sin? 5° + sin® 10" + sin® 15" + --- + sin? 85’ is:
Options :

1.%;5l

Question Number : 63 Question Id : 25498929438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
sin?5° + sin?10° + sin?15° + --- + sin?85° T ATH AT HITAT|
Options :
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GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549895513
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895554
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910305 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
'Audacity' is related to 'Courage' in the same way as 'Consent' is related to '
Options :



1. * Object
2. * Disagreement
3. * Protest

4. ¥ Permit

Question Number : 64 Question Id : 25498910305 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR &1 o Yay Tord 9 8, Fgafa &1 ag! 4ay ! Kk
Options :

1. % d¥

2. % 3 ggHfd

3. % faRly

4. ¥ QoINId

Question Number : 65 Question Id : 25498919013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the word from the options that is similar to the given set of words in a certain manner.

Hyderabad : Mumbai : : Dispur : ?
Options :

1. * Kochi

2. * Trombay

3. * Udaipur

4. ¥ Chennai

Question Number : 65 Question Id : 25498919013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % i

2. ¥ Tl

3. % 3qdR

4. IR

Question Number : 66 Question Id : 25498919669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third number in the same way as the second number is related to the first number.

1:1::25:7
Options :

1. % 26

2. % 255

3. % 240

4. ¥ 625

Question Number : 66 Question Id : 25498919669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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1:1:25:7?
Options :

1. ® 26

2. % 255

3. % 240

4. ¥ 625

Question Number : 67 Question Id : 25498919717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.

ASTN : ZTSO :: MSUB : ?
Options :

1. # LRRC

2. % LTTA

3. % NTVC

4. ¢ LTTC

Question Number : 67 Question Id : 25498919717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
39 fAdH e BT T B 1 AR S1ER-TE 9 31 341 UHR & TId § o THR I T 31&R-T1g Ugd 3eR-Tg ¥ Hafed g

ASTN : ZTSO :: MSUB : ?
Options :

1. * LRRC

2. % LTTA

3. ®* NTVC

4. ¥ LTTC

Question Number : 68 Question Id : 25498919938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the word that is different.
Options :

1. # Parallelogram

2. ¥ Hexagon

3. * Rhombus

4. % Square



Question Number : 68 Question Id : 25498919938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % gHIR st

2. ¥ YEHW

3. % gHAgYS

4, % I

Question Number : 69 Question Id : 25498927820 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third word in the same way as the second word is related to the first word.

India : President :: State : ?
Options :

1. # Prime minister

2. ¥ Governor

3. # Chief Minister

4. % Mayor

Question Number : 69 Question Id : 25498927820 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % QYrH
2. % ISYUT

3. % Q@A




GENERAL AWARENESS

Section Id : 2549895514
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895555
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549899788 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the given years in list-I with the events that occured in list-II and select the correct options using the given codes.

List-I (Year) List-IT (Event)

A. 1757 AD 1. Battle of Plassey
B. 1764 AD 2. Treaty of Salbai
C. 1776 AD 3. Battle of Buxar

D. 1782 AD 4. Treaty of Purandar
Options :

1. # A-2, B-3,C-4,D-1
2. ¥ A-1,B-3,C-4,D-2
3. ¥ A-2,B-4,C-3,D-1



4. % A-1,B-4,C-3,D-2

Question Number : 70 Question Id : 2549899788 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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A. 1757 %, 1. Wt 1 dST%
B. 1764 %. 2. ATdTS 1 A
C.17765. 3. SRR D TS5
D. 1782 %. 4. RS BT G
Options :

1. # A-2, B-3,C-4,D-1
2. ¥ A-1,B-3,C-4,D-2
3. ¥ A-2,B-4,C-3,D-1
4. % A-1,B-4,C-3,D-2

Question Number : 71 Question Id : 25498912519 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the primary source of food for marine life?
Options :

1. ¥ Phytoplankton

2. % Zooplankton

3. % Sea weed

4. ® Grass

Question Number : 71 Question Id : 25498912519 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ BI3eIided

2. % gided

3. % TG SHTE Ut

4. % 99

Question Number : 72 Question Id : 25498912754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With which sport is the name Michael Schumacher associated?
Options :

1. % Lawn tennis

2. % Boxing

3. ¥ Volleyball

4. ¥ Formula one car racing

Question Number : 72 Question Id : 25498912754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
HEehd YHTHR 1 A1 ford W ° TST 82
Options :

1. % dHHY

2. % TahaToll

3. % glciisia

4. ¢ HIHA 9 HR IR

Question Number : 73 Question Id : 25498932094 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who among the following succeeded Ratan Tata as chairman of the Tata Group?



Options :

1. # Salil Parekh

2. ¥ Cyrus Mistry

3. % Natarajan Chandrasekaran
4. # Noel Tata

Question Number : 73 Question Id : 25498932094 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % iete URY

2. v TSR fort

3. % TeRIOH IGRTHA

4. % TS 1T

Question Number : 74 Question Id : 25498932489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following fields has Dr. MS Swaminathan distinguished himself?
Options :

1. # Nuclear Physics

2. % Agriculture

3. # Astrophysics

4. % Medicine

Question Number : 74 Question Id : 25498932489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :



1. % T difdw!
2. ¢ PN

3. % @d Wifdet
4. % 3Ny

Question Number : 75 Question Id : 25498932508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Bonded Labour System (Abolition) Act was legislated in the year:
Options :

1. % 1974

2. % 1976

3. % 1977

4, % 1978

Question Number : 75 Question Id : 25498932508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. # 1974

2. ¥ 1976

3. % 1977

4. % 1978

English Mock

Group Number : 2

Group Id : 2549893411
Group Maximum Duration : 5

Group Minimum Duration : 5



Show Attended Group? : No

Edit Attended Group? : No

Break time : 1

Mandatory Break time : Yes

Group Marks : 0
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Show Progress Bar? : No
English Mock
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Section type : Typing Test
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Section Marks : 0
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Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 2549895556

Question Shuffling Allowed : No

Question Number : 76 Question Id : 25498941285 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children have
fun during this process as they get to explore new arenas.
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Question Shuffling Allowed : No

Question Number : 77 Question Id : 25498937226 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

The difference between the greatest leaders, high achievers and productive employees is that the leaders exhibit high performance
habits. They go beyond the limit to achieve more than what is expected. If you want to exhibit these attributes, you must develop the
following habits. Clarity. Find out what you want from life, where you want to be, how you want to relate with others and what can help
you to become significant in life. Establish your vision and purpose in life. Then, focus on activities that align with your internal
standards. Clarity simplifies living. However, to achieve clarity, you need to be highly committed to your goals. High performers seek
clarity more than the average individuals. If you want to be exceptional, seek clarity and learn how to stay on the true path. For instance,
exceptional individuals do not wait for the year to end to assess their performance. They evaluate themselves daily. If you also practice
this, it will help you to sift out distractions and consistently focus on what is relevant to your goals. Momentum. Your mental energy
determines your posture and success in life. Momentum can position you to stay ahead in life. It does not just help you achieve your goals
but also creates a chain effect where everything falls into place in your life. So, you must think of generating momentum in life just as the
high performers do. The secret behind the unceasing energy level of high performers is the fact that they have gained control of
transitions. They can quickly take a break, meditate or close their eyes to release their tension and align their focus on the important
activity. If you want to retain your efficiency all through the day, learn how to embark on psychological breaks every forty five to sixty
minutes. This might be tough to implement, but try to plan your day in chunks. Influence. Nobody attains significance in isolation. Great
performers have a habit of influencing people who surround them. They understand that their success will be limitless when they impact
others positively. High performers teach others how to think and challenge them to take responsibility for their lives. This is how they
develop influence. You can change your life by teaching people how to think smart and asking them questions that provoke thoughts.
Courage. Courage is the quality of mind or spirit that empowers an individual to confront danger and pain without being afraid. It is
standing up when others are giving up. It is taking action when others lose guts. High performers stand for themselves and communicate
their ambitions than the average people. They not only speak for themselves, but they also speak for others. They are not afraid to share
truths about themselves. Not only that, they understand that struggle is fundamental to success. They pursue their ambition knowing
that it would not be easy. If you want to be a high performer, you must be courageous. Focus on who you are doing it for and work hard
to achieve your goal. This will inject you with the courage that you need.
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